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DISTRICT CHILD PROTECTION OFFICER INTAMILNADU APPROVED SCHOOLS 
AND VIGILANCE SERVICE 

 
1. The Hindu College at Calcutta was founded by 

a. Warren Hasting   b. Marshmau   c. Macaulay 
d. David Hare   d. Answer not known 
fy;fj;jhtpy; cs;s ,e;Jf; fy;Y}hpia epWtpath; 
a. thud; N`];bq;];  b. khh;~;nkd;   c. nkf;fhNy 
d. Nltpl; N`h;   e. tpil njhpatpy;iy 
 

2. India emerged as a Sovereigf Sstate on 
a. 4 September 1947   b. 27 June 1947  c. 15 August 1947 
d. 15 March 1947   e. Answer not known 
,epjpah ,iwahz;ik nfhz;l ehlhf cUthdJ 
a. 4 nrg;lk;gh; 1947   b. 27 [_d; 1947  c. 15 Mf];l; 1947 
d. 15 khh;r; 1947   e. tpil njhpatpy;iy 
 

3. C.Rajagopalachari had a 150-mile March of 98 Satyagrahis from——— to 
Vedaranyam on 13 April 1930 to break the salt law. 
a. Madurai    b. Trichy   c. Tanjore 
d. Madras    e. Answer not known 
rp. uh[Nfhghuhr;rhhp 1930 Vg;uy; 13 md;W cg;G rl;lj;ij kPWtjw;fhf 98 
rj;jpahf;fpufpfspd; 150 iky; mzp tFg;ig ———— Kjy; Ntjhuzak; tiu 
elj;jpdhh; 
a. kJiu    b. jpUr;rp   c. jQ;if  
d. nkl;uh];    e. tpil njhpatpy;iy 
 

4. One of the first ideas that Annadurai was keen to implement was that of supplying 
three kilograms of ________ for a rupee. 
a. rice    b. sugar   c. wheat 
d. dal    e. Answer not known 
mz;zhJiu nray;gLj;j Mh;tkhf ,Ue;j Kjy; Nahrik> xU &gha;f;F %d;W 
fpNyh ———— toq;FtJ. 
a. mhprp   b. rh;f;fiu   c. NfhJik 
d. gUg;G   e. tpil njhpatpy;iy 
 

5. In ———— ,Ambedkar started an organization in Bombay called ‘Bahishkrit Hitkarni 
Sabha’ for the moral and material progress of the untouchables. 
a. 1891   b. 1924   c. 1955 
d. 1923   e. Answer not known 
———— Mz;L mk;Ngj;fh; jPz;lj;jfhjth;fspd; jhh;kPf kw;Wk; nghUs; 
Kd;Ndw;wj;jpw;fhf gk;ghapy; ‘g`p ~;fpUj; `pj;fudp rhg’ vd;w mikg;igj; 
njhlq;fpdhh;. 
a. 1891   b. 1924   c. 1955 
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d. 1923   e. tpil njhpatpy;iy 
 

6. The talented Maratha lady who gave much help in founding “Arya Mahila Samjh” 
was 
a. Pandit Ramabai  b. Muthulakshmi Reddy  c. Ambujammal 
d. Lazmi   e. Answer not known 
Mh;ah kfpsh rghit ];jhgpg;gjpy; mjpf cjtp nra;j jpwikahd kuhl;ba ngz;. 
a. gz;bl; ukhgha;  b. Kj;Jnyl;Rkp nul;b  c. mk;G[hk;khs; 
d. yl;Rkp   e. tpil njhpatpy;iy   

7. Arrange the following events in chronological order/event type: 
(1) Revolt at Danapur 
(2) Revolt at Meerut 
(3) Death of Rani Lakshmibai of Jhansi 
(4) Mangal Pande was hanged to death 
a. 2, 3,1, 4   b. 1, 2, 4, 3   c. 4, 2, 1, 3 

d. 3, 1, 4, 2   e. Answer not known 
gpd;tUk; efo;Tfis fhythpirg;gb ∕ epfo;T tifapd;gb xOq;fikf;fTk;. 
(1) jhdhG+hpy; fpsh;r;rp 
(2) kPul;by; fpsh;r;rp 
(3) [hd;rpapd; uhzp yl;Rkpgha; kuzk; 
(4) kq;fs; ghz;Nl J}f;fpyplg;gl;lhh; 
a. 2> 3> 1> 4   b. 1> 2> 4> 3   c. 4> 2> 1> 3 
d. 3> 1> 4> 2   e. tpil njhpatpy;iy 
  

8. Name the Chief Minister of Tamil Nadu during the Second World Tamil Conference 
held in Chenni. 
a. Annadurai   b. Kamaraj   c. Karunanidhi 
d.Jayalalitha   e. Answer not known 
,uzlhk; cyfj; jkpo; khehL nrd;idapy; eilngw;w NghJ jkpofj;jpd; Kjy;tuhf 
,Ue;jth; ngaiu Fwpg;gpLf. 
a. mz;zhJiu  b. fhkuh[h;   c. fUzhepjp 
d. n[ayypjh  e. tpil njhpatpy;iy 
  

9. The song with the verse as “When will our thirst for freedom end” was mentioned in 
the judgement of. 
a. Alipore Bomb case b. Ashe Murder case c. Aswini Kumar case 
d. Kuthiram Bose case e. Answer not known 
“vd;W jzpAk; ,e;j Rje;jpu jhfk;” vd;w ghly; thpfs; ,lk; ngw;w jPh;g;G vJ? 
a. mypg;G+h; ntbFz;L tof;F  b. M~; nfhiy tof;F 
c. m];tpdp Fkhh; tof;F   d. Fj;jpuhk; Ngh]; tof;F 
e. tpil njhpatpy;iy 
 

10. Which one of the statement is correct regarding Ayodidasa Pandithar? 
(i) He started Advaitha Aandha Sabha in Nilagiri in 1870.  
(ii) He started Dravida Mahajana Sangam in 1881. 
(iii) He started the formal orupaisa tamilan in 1897.  
(iv) He started Sakiya Buddha Sangam in 1898. 
a. (i), (ii) are correct    b. (ii), (iii) are correct c. (iii), (iv) are correct 
d. (i), (ii), (iii), (iv) are correct e. Answer not known 
fPo;fz;ltw;wpy; mNahj;jpjhrh; gz;bh; gw;wp rhpahd $w;W vJ? 
(i) ,th; 1870y; mj;itj;de;jh vd;w rigia ePyfphpapy; Muk;gpj;jhh;. 
(ii) 1881y; jpuhtpl kfh[d rq;fj;ij Muk;gpj;jhh;. 
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(iii) 1897y; xU igrh jkpod; vd;w gj;jphpf;ifia Muk;gpj;jhh;. 
(iv) 1897y; rhf;fpa Gj;j rq;fk; vd;w mikg;ig Muk;gpj;jhh;. 
a. (i)> (ii) kl;Lk; rhp  b. (ii)> (iii) kl;Lk; rhp 
c. (iii)> (iv) kl;Lk; rhp  d. (i)> (ii)> (iii)> (iv) rhpahdJ 
e. tpil njhpatpy;iy 
 

11. Which Governor under British Rule is called as a ‘Continental Emperor’? 
a. Curzon   b. Duplex   c. Robert Clive 
d. Warren Hastings  e. Answer not known 
ve;j MSeh; gphpl;b~; Ml;rpapd; jPo; ‘fz;l Nguurh;’ vd;W miof;fg;gl;lhh;? 
a. fh;rd;   c. bA+g;Ns   c. uhgh;l; fpist; 
d. thud; N`];bq;]; e. tpil njhpatpy;iy 
 

12. Identify the argument that believes in the following stataement ‘Just as nature moves 
human history is in motion’. 
a. The first argument of historical meaning. 
b. Communism 
c. Moderation 
d. The first argument of economic meaning 
e. Answer not known 
,aw;ifg; nghUs;fs; ,aq;fpf; nfhz;bUg;gJ NghyNt kdpj tuyhW ,aq;fpf; 
nfhz;bUf;fpwJ vdf; $Wk; thjk;. 
a. tuyhw;Wg; nghUs; Kjy; thjk;  b. nghJTilik 
c. kpjthjk;      d. nghUshjhug; nghUs; Kjy; thjk; 
e. tpil njhpatpy;iy 
 

13. Whom does Thiruvalluvar refer to as ‘Thaalanmai illathavan’? 
a. Ookam illadhavan (one who lacks motivation) 
b. Dharmam Ssiyadhavan (one who does not do charity) 
c. Vida Muyarchi illadhavan (one who lacks perseverance) 
d. kobam kolladhavan (one who does not get angry) 
e. Answer not known 
‘jhshz;ik ,y;yhjhtd;’ vd;W jpUts;Sth; ahiuf; Fwpg;gpLfpwhh;? 
a. Cf;fk; ,y;yhjtd;  b. jh;kk; nra;ahjtd; 
c. tplhKaw;rp ,y;yhjtd;  d. Nfhgk; nfhs;shjtd; 
e. tpil njhpatpy;iy 
 

14. Whose nickname was “Pasuvayya” among all the four great (novelist) Literary 
Creatiors? 
a. Sundara Ramasamy  b. Dharmar  c. Jeyakandhan 
d. Ponneelan    e. Answer not known 
gRta;ah vd;w ngah; nfhz;l ehd;F ,yf;fpag; gilg;ghspfspy; ahh;? 
a. re;ju uhkrhkp   b. jh;kh  c. n[afhe;jd; 
d. nghd;dPyd;    e. tpil njhpatpy;iy 
 

15. Who is considered the head of the Tamil dramatists? 
a. Sankaradoss Swamikal  b. Pammal Sambanthar 
c. T.K. Chidamparanar  d. V.V. Subramaniyam 
e. Answer not known 
jkpo; ehlfj;jpd; jiuikahrphpah; vdg; Nghw;wg;gLgth; ahh;? 
a. rq;fujh]; Rthkpfs;  b. gk;ky; rk;ge;jh; 
c. b.Nf. rpjk;ghdhh;   d. t. Nt. Rg;gpukzpak; 
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e. tpil njhpatpy;iy 
 

16. ‘Houangtche’ refers the place. 
a. Kanchi   b. Mysore   c. Pandyas 
d. Puhar   e. Answer not known 
‘Houangtche’ Fwpf;Fk;,lk; 
a. fhQ;rp   b. ik#h;   c. ghz;bah;fs; 
d. Gfhh;   e. tpil njhpatpy;iy 
 

17. Who is the author of the book ‘Kaasi Kaandam’? 
a. Irratayarkal   b. Jeyankondar  c.Kumaragurubarar 
d. Adhi Veerarama pandiyar e. Answer not known 
fhrpf; fhz;lk; vd;Dk; E}iy ,aw;wpath;? 
a. ,ul;ilah;fs;   b. nraq;nfhz;lhh;  c. FkuFUguh; 
d. mjptPuukh ghz;bah;  e. tpil njhpatpy;iy 
 

18. What is referred to in the following lines? 
Wrapped in silk, glorified by the three like as that text if touched hands  
Will smell perfume and mouth will smell sweet when spoken about 
a. Thiruvasagam  b. Text of Padikaasu Pulavar’s songs 
c. Thirupugal   d. Thamizh Chuvadi  e. Answer not known 
gl;lhNy #o;e;jhYk; %TyFk; ghpkspf;Fk; ghpe;J mt;Ntl;ilj; njhl;lhYk; 
ifkzf;Fk; nrhd;dhYk; tha; kzf;Fk; - vJ? 
a. jputhrfk;   b. gbf;fhRg; Gythpd; ghly; VL 
c. jpUg;Gfo;   d. jkpo;r;Rtb 
e. tpil njhpatpy;iy 
 

19. Who was the Cambridge University professor who said there is nothing in world 
Literature that can go beyond the standard of Sangam Literature? 
a. Hart   b. R.E. Asher   c. Thikan  
e. Robert Caldwell  e. Answer not known 
“rq;fg; ghly;fisj; juj;jpy; kpQ;rait cyf ,yf;fpaj;jpy; ,y;iy vd;W $wpa 
Nfk;g;hpl;[; gy;fiyf; fofg; Nguhrphpah;” 
a. `hh;l;   b. Mh;.<. M~h;  c. jPf;fd; 
d. ,uhgh;l; fhy;Lnty; d. tpil njhpatpy;iy 
 

20. “Ongu thirai viyan parappin 
Olimuneer varambaaga” 
(Ceaselesslu waving sea that has three types of water it…) 
The three types of water referred to in the above lines are 
a. River water, spring water, Rain water 
b. Stream water, drinking water. Rain water 
c. Cold water, spring water, river water 
d. Water, hot water, rain water 
e. Answer not known 
‘Xq;Fjpiu tpad; gug;gpd;  
xypKe;ePh; tuk;ghf….’ – vd;w mbapy; fhzg;gLk; ‘Ke;ePh; vd;gjd; nghUs; 
a. Mw;W ePh;> Cw;W ePh;> kioePh;  b. Xil ePh;> Fb ePh;> kio ePh;  
c. Fsphe;j ePh;> nte;ePh;> kioePh;  d. jz;zPh;> nte;ePh;> kioePh; 
e. tpil njhpatpy;iy ; 

  



 

5 | P a g e  
 

21. (i) This place is situated on the bank of the Thamiraparani river. 
(ii) There are Urn burial site spread over 114 acres of land.  
Which archaeological site is described in the above statements? 
a. Adichanallur  b. Arikamedu  c. Keelavalavu 
d. Kalugumalai  e. Answer not known 
(i) ,e;j ,lk; jhkpuguzp Mw;wpq; fiuapy  mike;Js;sJ. 
(ii) jhopfs; Gijf;fg;gl;l fsk; 114 Vf;fh; gug;gstpy; gutp fhzg;gLfpwJ. 
Nkw;$wpa $w;Wf;fs; ve;j njhy; nghUs; jsj;ijg; gw;wp tpthpf;fpwJ? 
a. Mjpr;rey;Y}h;  b. mhpf;fNkL   c. fPpotsT 
d. fOFkiy   e. tpil njhpatpy;iy 
 

22. Name the ruler who is praised by ‘Kalavali Narpadu’. 
a. Adiyaman   b. Kulottunga I   c. Nedunkilli 
d. Sengana   e. Answer not known 
‘fstop ehw;gJ’ ve;j muriu Gfo;e;Jiuf;fpwJ? 
a. mjpakhd   b. Kjyhk; FNyhj;Jq;fd; 
c. neLq;fps;sp  d. nrq;fzhd;  e. tpil njhpatpy;iy 
 

23. The Tamil Nadu State has been divided into how many agro-climatic subzones 
a. 11  b. 7  c. 9  d. 3  e. Answer not known 
jkpo;ehL khepykhdJ vj;jid Ntshz;-fhy epiyfis nfhz;l Jiz 
kz;lyq;fshf gphpf;fg;gl;Ls;sJ? 
a. 11  b. 7  c. 9  d. 3  e. tpil njhpatpy;iy 
 

24. Which city is nicknamed as Detroit of Asia? 
a. Chennai  b. Madurai   c. Bangalore  
d. Mysore  e. Answer not known 
ve;j efuk;Mrpahtpd; nll;uha;l; vd;W miof;fg;gLfpwJ? 
a. nrd;id  b. kJiu   c. ngq;fSU 
d. ik#h;  e. tpil njhpatpy;iy 
 

25. In Tamil Nadu Uzhavan mobile app was launched in the year 
a. 2018  b. 2019   c. 2020 
d. 2021   e. Answer not known 
jkpo; ehl;bd; cotd; nrayp mwpKfg;gLj;jpa Mz;L 
a. 2018  b. 2019   c. 2020 
d. 2021  e. tpil njhpatpy;iy 
 

26. Which of the following organization deals with capacity building educational 
planning? 
a. NCERT   b. UGC   c. NAAC 
d. NUEPA   e. Answer not known 
jpwd; Nkk;ghl;L fy;tp jpl;lk; - ,ij ve;j epWtdk; ifahs;fpwJ? 
a. vd;.rp.,.Mh;.b  b. A+.[p.rp   c. vd;.V.V.rp 
d. vd;.A+.,.gp.V  e. tpil njhpatpy;iy 
 

27. Election of rural and urban local bodies are conducted and ultimately supervised by 
a. Election Commission of India  b. State Election Commission 

c. District Collector and District Magistrate 
d. Concerned Returning Officer 
e. Answer not known 
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fpuhkg;Gw kw;Wk; efh;Gw cs;shl;rpj; Njh;jy; ahuhy; elj;jg;gl;L 
fz;fhzpf;gfg;gLfpwJ? 
a. ,e;jpa Njh;jy; Mizak;   b. khepya Njh;jy; Mizak; 
c. khtl;l Ml;rpah; kw;Wk; khtl;l ePjpgjp d. jpUk;Gk; mjpfhhp 
e. tpil njhpatpy;iy 
 

28. According to 2011 Census report, the density of population in Tamil Nadu is 
a. 333 person per sq. km   b. 444 person per sq. km 
c. 555 person per sq. km   d. 666 person per sq. km 
e. Answer not known 
2011 fzf;nfLg;G $w;wpd;gb> jkpo;ehl;bd; kf;fs; njhif neUf;fk; ,Ue;jJ. 
a. 333 egh; xU rJu fpNyhkPl;lh;  b. 444 egh; xU rJu fpNyhkPl;lh; 
c. 555 egh; xU rJu fpNyhkPl;lh;  d. 666 egh; xU rJu fpNyhkPl;lh; 
e. tpil njhpatpy;iy 
 

29. In Tamil Nadu total literacy rate was———— in 2011. 
a. 60.33%  b. 70.33%  c. 80.33% 
d. 90.33%  e. Answer in known 
2011y; jkpo;ehl;by; nkhj;j vOj;jwpT tpfpjhr;rhuk; ———— ,Ue;jJ. 
a. 60.33%  b. 70.33%  c. 80.33% 
d. 90.33%  e. tpil njhpatpy;iy 
 

30. In Tamil Nadu Chief Minister Solar powered Green House Scheme (CMSPGHS) was 
launched in the year 
a. 2010   b. 2011    c. 2012 
d. 2013   e. Answer not known 
jkpo;ehl;by;> Kjyikr;rh; #hpa rf;jpg Rik tPL jpl;lk; ——— Mz;L 
njhlq;fg;gl;lJ.  
a. 2010   b. 2011    c. 2012 
d. 2013   e. tpil njhpatpy;iy 
 

31. State Industries Promotion Corporation of Tamil Nadu (SIPCOT) was established in 
the year 
a. 1968   b. 1970   c. 1971 

d. 1980   e. Answer not known 
jkpo;ehL muR njhopy; Kd;Ndw;wf; fofk; (SIPCOT) epWtg;gl;l Mz;L 
a. 1968    b. 1970   c. 1971 
d. 1980   e. tpil njhpatpy;iy 
 

32. The economy of Tamil Nadu is the ————— largest and ——— most populared 
State in India. 
a. 12th and 7th   b. 13th and 5th   c. 11th and 6th 

d. 10th  and 4th  e. Answer not known 
jkpo;ehl;bd; nghUshjhuk; ,e;jpahtpd; ———— kpfg; nghpa kw;Wk; ———— mjpf 
kf;fs; nfhz;l khepykhfk;. 
a. 12tJ kw;Wk; 7tJ  b. 13tJ kw;Wk; 5tJ  c. 11tJ kw;Wk; 6tJ 

d. 10tJ kw;Wk; 4tJ   e. tpil njhpatpy;iy 
 

33. Mala has 15 square colour papers of sizes are 10cm, 11cm, 12cm …24cm. How many 
area can be decorated with these colour papers? 
a. 4615 cm2   b. 4625cm2   c. 4635 cm2 

d. 4600 cm2   e. Answer not known 
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khyhtplk; 10 nr.kP.> 11 nr.kP.> 12 nr.kP….24 vd;w gf;f msTs;s 15 rJu tbt 
tz;zf; fhfpjq;fs; cs;sd. ,e;j  tz;zf; fhfpjq;fisf; nfhz;L vt;tsT 
gug;ig milj;J myq;fhpf;f KbAk;? 
a. 4675 nr.kP 2  b. 4625 nr.kP2   c. 4635 nr.kP2 

d. 4600 nr.kP2       e. tpil njhpatpy;iy 
 

34. The single discount which is equivalent to two successive discount of 20% and 25 % 
is 
a. 40%    b. 45%    c. 5% 
d. 22.5%   e. Answer not known 
,uz;L njhlh; js;Sgbfshd 20% kw;Wk; 25% Mfpatw;wpw;F epfuhd xNu js;Sgb 
rjtPjk; 
a. 40%    b. 45%    c. 5% 
d. 22.5%   e. tpil njhpatpy;iy 
 

35. What is the percentage of 10 hours in a day? 

a. 16 
1

3
%   b. 41 

2

3
%   c.12 

2

5
% 

d.10 
2

5
%   e. Answer not known 

xU ehspy; 10 kzp Neuk; vd;gJ vj;jid rjtPjk;? 

a. 16 
1

3
%   b. 41 

2

3
%   c.12 

2

5
% 

d.10 
2

5
%   e. tpil njhpatpy;iy 

 
36. In a Auditorium there are 20 seats in the front row and 30 were allotted. Each 

successive row contains two additional seats than its front row. How many seats area 
in the last row? 
a. 600  b. 60  c. 78  d. 18  e. Answer not known 
xU fiyauq;fj;jpy; Kjy; thpirapy; 20 ,Uf;iffSk; nkhj;jk; 30 thpiffSk; 
cs;sd. mLj;jLj;j xt;nthU thpifapYk; mjw;F Ke;ija thpiria tpl ,uz;L 
,Uf;iffs; $Ljyhf cs;sd vdpy; filrp thpirapy; vj;jid ,Uf;fiffs; 
cs;sd? 
a. 600  b. 60  c. 78  d. 18  e. tpil njhpatpy;iy 
 

37. Find the 8th term of Geometric Progression (G.P) 9, 3, 1,…. 

a. 
1

27
  b. 

1

81
  c. 

1

243
  d. 

1

729
 e. Answer not known 

9> 3> 1>…. vd;w ngUf;Fj; njhlh; thpirapd; 8 tJ cWg;igf; fhz;f. 

a. 
1

27
  b. 

1

81
  c. 

1

243
  d. 

1

729
 e. tpil njhpatpy;iy 

 
38. If A denotes +, B denotes -, C denotes × and D denotes  then, what is the value of 

2C15B7A100D10? 
a. 24  b. 26  c. 33  d. 36  e. Answer not known 
A vd;gJ +> B vd;gJ -> C vd;gJ ×> D vd;gJ  vdpy;> 2C15B7A100D10 d; 
kjpg;G vd;d? 
a. 24  b. 26  c. 33  d. 36  e. tpil njhpatpy;iy 
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39. If the word EXAMINATION is denoted by FYBNJOBUJPO then the word 
CERTIFICATE is denoted by 
a. DFSUJHJDBUF  b. DFSUJGJDBUF  c. DFSJUGJDBUF 
d. DFSUJGIDBUF  e. Answer not known 
EXAMINATION vd;w thh;jij   FYBNJOBUJPO   vd;w FwpaPl;lhy; Fwpf;fg;gl;lhy; 
CERTIFICATE vd;w thh;j;ij vt;thW Fwpg;gplg;gLk;? 
a. DFSUJHJDBUF  b. DFSUJGJDBUF  c. DFSJUGJDBUF 
d. DFSUJGIDBUF  e. tpil njhpatpy;iy 
 

40. What is the probability of throwing an even number with a single standard died of 
six faces? 

a. 
1

2
  b. 

1

3
  c. 

5

6
  d. 

2

3
  e. Answer not known 

xU rPuhd gfilia cUl;Lk;NghJ Xh; ,ul;il vz; fpilg;gjw;fhd epfo;fT vd;d? 

a. 
1

2
  b. 

1

3
  c. 

5

6
  d. 

2

3
  e. tpil njhpatpy;iy 

 
41. The probability that it will rain tomorrow is 0.91. What is the probability that it will 

not rain tomorrow? 
a. 0.09    b. 1.09    c. 0.90 
d. 1.90    e. Answer not known 
ehisa kio nghoptpw;fhd> epfo;jft 0.91 vdpy; kio nghopahky; ,Ug;gjw;fhd 
epfo;jfT vd;d? 
a. 0.09   b. 1.09    c. 0.90 
d. 1.90    e. tpil njhpatpy;iy 
 

42. A can do a piece of work in 30 days. While B can do it in 40 days. In how long will 
they take to do the work together? 

a. 18    b. 17 
1

7
   c. 20 

d. 16 
1

6
   e. Answer not known 

A vd;gth; xU Ntiyia 30 ehl;fspy; nra;J Kbg;ghh;. B vd;gth; mNj Ntiyia 
40 ehl;fspy; nra;J Kbg;ghh; vdpy; AAk; BAk; Nrh;e;J me;j Ntiyia vj;jid 
ehl;fspy; Kbg;gh;? 

a. 18    b. 17 
1

7
   c. 20 

d. 16 
1

6
   e. tpil njhpatpy;iy 

 
43. A works 3 times as fast as B and is able to complete a task in 24 days less than the 

taken by taken by find the time in which they can complete the work together? 
a. 8 days   b. 9 days   c. 16 days 
d. 7 days   e. Answer not known 
A Mdth; B If; fhl;bYk; 3 klq;F Ntfkhf xU Ntiyia nra;J Kbg;ghh. mtuhy; 
me;jg; gzpia B vLj;Jf; nfhz;l Neuj;ij tpl 24 ehl;fs; Fiwthf vLj;J 
Kbf;f KbfpwJ. ,UtUk; Nrh;e;J me;j Ntiyia Kbf;f MFk; Neuj;ijf; fhz;f. 
a. 8 ehl;fs;   b. 9 ehl;fs;   c. 16 ehl;fs; 
d. 7 ehl;fs;   e. tpil njhhpatpy;iy 
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44. If the radius of the base of a cone is tripled and these height is doubled then the 
volume is 
a. made 6 times  b. made 18 times  c. made 12 times 
d. unchanged  e. Answer not known 
xU $k;gpd; mbg;Gw Muk; Kk;klq;fhfTk; cauk; ,U klq;fhfTk; khwpdhy; fd 
msT vj;jid klq;fhf khWk;? 
a. 6 klq;F   b. 18 klq;F   c. 12 klq;F 
d. khw;wkpy;iy  e. tpil njhpatpy;iy 
 

45. The ratio of the volumes of a cylinder, a cone and a sphere if each has the same 
diameter and same height is  
a. 1 : 2 : 3   b. 2 : 1 : 3   c. 1 : 3 : 2 
d. 3: 1 : 2   e. Answer not known 
 xU tpl;lKk;,> cauKk;> cila cUias> $k;G> Nfhwk; Mfpatw;wpd; fd 
msTfspd; tpfpjk;  
a. 1 : 2 : 3   b. 2 : 1 : 3   c. 1 : 3 : 2 
d. 3: 1 : 2   e. tpil njhpatpy;iy 
 

46. Find the difference between simple interest and compound interest, if  
P = Rs. 5,000, Rate of interest r = 4% and n = 2 years. 
a. Rs. 8    b. Rs. 16    c. Rs. 24 
d. Rs. 32    e. Answer not known 
P = Rs. 5,000, Mz;L tl;b tPjk; r = 4%, n =2 Mz;Lfs; vdpy;> jdptl;bf;Fk;> $l;L 
tl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f. 
a. Rs. 8    b. Rs. 16    c. Rs. 24 
d. Rs. 32    e. tpil njhpatpy;iy 
 

47. The cost of a machine is Rs. 18,000 and it depreciates at 16
2

3
% annually. Its value 

after two years will be 
a. Rs. 12,000   b. Rs. 12,000   c. 15,000 
d. Rs. 16,000   e. Answer not known 

Xh; ,ae;jpuj;;jpd; tpiy &. 18>000 mJ Mz;Lf;F 16
2

3
% tPjk; Nja;khdk; 

milfpwJ. 2 Mz;LfSf;Fg; gpwF mjd; kjpg;G ———— Mf ,Uf;Fk;. 
a. Rs. 12,000   b. Rs. 12,000   c. 15,000 
d. Rs. 16,000   e. tpil njhpatpy;iy 
 

48. A principal becomes Rs. 17,000 at the rate of 12% in 3 years. Find the principle. 
a. Rs. 6120   b. Rs. 12,500   c. Rs. 4500 
d. Rs. 10,620   e. Answer not known 
xU njhidahdJ 3 Mz;Lfspy; 12% jdptl;b tPj;jpy; njhif Rs. 17,000 Mfpf; 
fpilf;fpwJ vdpy; me;jj; njhifiaf; fhz;f. 
a. Rs. 6120   b. Rs. 12,500   c. Rs. 4500 
d. Rs. 10,620   e. tpil njhpatpy;iy 
 

49. A tank can hold 50 litres of water. At presents it is only 30% full. How many litres of 
water will fill the tank, so that it is 50% full? 
a. 15 litres   b. 40 litres   c. 10 litres 
d. 25 litres   e. Answer not known 
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xU jz;zPh;j; njhl;bapd; nfhs;sT 50 yp MFk;. jw;NghJ 30% jz;zPh; 
epuk;gpAs;sJ vdpy; mjpy; 50% jz;zPh; epiwa ,d;Dk; vj;jid ypl;lh;fs; Njit? 
a. 15 yp   b. 40 yp   c. 10 yp 
d. 15 yp   e. tpil njhpatpy;iy 
 

50. If x: y=2: 3, find the value of 3 x + 2 y: + 5y. 
a. 5: 2   b. 12: 19   c. 10 :13 
d. 3: 2   e. Answer not known 
x: y=2: 3 vdpy;> 3 x + 2 y: + 5y -d; kjpg;G  fhz;f. 
a. 5: 2   b. 12: 19   c. 10 :13 
d. 3: 2   e. tpil njhpatpy;iy 
 

51. y is directly proportional to x+3 when x=1 then y=8. What is the value of y when 
x=3? 
a. 3  b. 5  c. 10  d. 12  e. Answer not known 
y MdJ x+3 f;F Neh;tpfpjj;jpy; mikfpwJ.  NkYk; x=1 vdpy;> y=8, x=3vdpy;> yd; 
kjpg;G vd;d? 
a. 3  b. 5  c. 10  d. 12  e.  tpil njhpatpy;iy 
  

52.  Find the LCM of the polynomials (x4-1) and (x2 -2x +1). 
a. (x+1)2 (x2+1)(x-1)  b. (x2 -1) (x-1)2  (x+1)  c. (x2 +1) (x-1)2  (x+1) 

d. (x2 +1) (x2 -1)(x-1)2 e. Answer not known 
(x4-1), (x2 -2x +1) Mfpa gy;YWg;Gf; Nfhitfspd; kP.rp.k. fhz;f. 
a. (x+1)2 (x2+1)(x-1)  b. (x2 -1) (x-1)2  (x+1)  c. (x2 +1) (x-1)2  (x+1) 

d. (x2 +1) (x2 -1)(x-1)2 e. tpil njhpatpy;iy 
 

53. The product of two numbers is 2160 and their HCF is 12. Find their LCM. 
a. 210  b. 180  c. 150  d. 120  e. Answer not known 
,U vz;fspd; ngUf;fy; gyd; 2160 kw;Wk; mtw;wpd; kP.ngh.t. 12 vdpy; mtw;wpd; 
kP.ngh.k. fhz;f 
a. 210  b. 180  c. 150  d. 120  e. tpil njhpatpy;iy 
 

54. (-16)   4 is the same as 
a. –(-16) 4  b. (-16)  (-4)   c. 16  (-4) 

d. (-4)  (-16)  e. Answer not known 
(-16) 4f;F rkkhdJ vJ? 
a. –(-16) 4  b. (-16)  (-4)   c. 16  (-4) 

d. (-4)  (-16)  e. tpil njhpatpy;iy 
 

55. Find the G.C.D of x4 -1, x4 +5x3 -5x2 +5x-6. 
a. (x4 +1) (x-1)  b. (x2 +1) (x-6)  c. (x2 +1) (x+6) 
d. x4 -1   e. Answer not known 
kP. ngh.t. fhz;f. 
a. (x4 +1) (x-1)  b. (x2 +1) (x-6)  c. (x2 +1) (x+6) 
d. x4 -1   e. tpil njhpatpy;iy 
 

56. When 60 is subtracted form 60% of a number to give 60, then the umber is 
a. 60  b. 100  c. 150  d. 200  e. Answer not known 
xh; vz;zpy; 60% ,ypUe;J 60If; fopj;jhy; 60 fpilf;Fk; vdpy; me;j vz; 
a. 60  b. 100  c. 150  d. 200  e. tpil njhpatpy;iy 
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57. The income of a person increased by 10% and decreased by 10%. Then percentage 
change in his income 
a. decreases by 2%   b. decrease by 1%  c. increases by 1% 
d. increases by 2%   e. Answer not known 
xU eghpd; tUkhdk; 10% mjpfhpf;fg;gl;L gpwF 10% Fiwf;fg;gLfpwJ vdpy;> mtuJ 
tUkhdk; 
a. 2% FiwfpwJ   b. 1% FiwfpwJ  c. 1% mjpfhpf;fpwJ 
d. 2% mjpfhpf;fpwJ   e. tpil njhpatpy;iy 
 

58. The charge of an atom is  
a. positively charged  b. neutral  c. negatively charged 
d. none of the above   e. Answer not known 
mZtpd; kpd;D}l;lkhdJ ————MFk; 
a.  Neh;kpd;D}l;lk;     b. kpd;D}l;lkw;wJ   

c. vjph; kpd;D}l;lk; nfhz;lJ  d. Nkw;$wpa fJTkpy;iy 
e. tpil njhpatpy;iy 
 

59. Alternating current is converted into is converted into direct current by 
a. Dynamo   b. Rectifier   c. Transformer   
d. Motor   e. Answer not known 
khWjpir kpd;Ndhl;lk; Neh;jpir kpd;Ndhl;lkhf khw;WtJ —————MFk;. 
a. ilkNkh   b. kpd;jpUj;jp   c. kpd;khw;wp 
d. Nkhl;lhh;   e. tpil njhpatpy;iy 
 

60. During the storm wind, blowing of roofs is the application of 
a. Pascal law   b. Torricelli’s theorem c. Bernoulli’s theorem 
d. Hooke’s law  e. Answer not known 
#iwf; fhw;wpy; $iu J}f;fp vwpag;gLjy; fPo;fz;l vtw;wpd; gad;ghL? 
a. gh];fy; tpjp  b. lhhpnry;yh tpjp  c. ngh;ndsypapd; Njw;wk; 
d. `_f; tpjp   e. tpil njhpatpy;iy 
 

61. When a cricketer hits the ball by his bat, the force exerted by the bat on the ball is —
—— force.  
a. Gravitational  b. Frictional    c. Impulsive 

d. Centrifugal  c. Answer not known 
xU fphpf;nfl; tPuh; jd; kl;ilahy; ge;ij mbf;Fk; NghJ> kl;il ge;jpd; kPJ 
nrYj;JtJ MFk;. 
a. Gtp<h;g;G tpir  b. cuha;T tpir  c. fzj;jhf;F tpir  
d. ikatpyfy; tpir e. tpil njhpatpy;iy 
 

62. A teacher tries to teach a complex idea with the help of some. Pleasant stimulus and 
after repeated use of various situations, the students liked the subject. The theory 
underlying this method is 
a. Trial and error learning   b. Classical conditioning 
c. Perceptual learning   d. Operant conditioning 
e. Answer not known 
xU Mrphpah; rpy ,dpikahd J}z;Ljypd; cjtpAld; xU rpf;fyhd Nahridia 
fw;gpf;f Kaw;rpf;fpwhh;. kw;Wk; gy;NtW #o;epiyfis kPz;Lk; kPz;Lk; gad;gLj;jpa 
gpwF khzth;fs; fw;wy; Kiwia tpUk;Gfpwhh;fs;. ,e;j Kiwf;F mbg;gilahd 
Nfhl;ghL 
a. Kad;W jtwpf; fw;wy; Kiw  b. gFj;jwpe;J fw;wy; Kiw 

c. GyDzh;T fw;wy; Kiw   d. GyDzh;T fw;wy; Kiw 
e. tpil njhpatpy;iy 
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63. The name of the Atomic Energy Research Centre in Tamil Nadu is 
a. ISRO   b. IGCAR    c. CAT 
d. None of the above e. Answer not known 
jkpo;ehl;by; mike;J ,Uf;Fk; mZ Mw;wy; Muha;r;rp ikaj;jpd; ngah; MFk;? 
a. ,];Nuh    b. I[pfh;   c. Nfl; 
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
   

64. Which of the following is not the  Scientific Reasoning? 
a. genuine thinking  b. Implicit act  c. Explicit act 
d. Problem solving  e. Answer not known 
gpd;tUtdtw;Ws; vJ mwptpay; gFj;jwpT my;y?  
a.  nka; rpe;jid  b. kiwKf nray;  c. ntspg;gil nray; 
d. rpf;fy; jPh;jy;  e. tpil njhpatpy;iy 
           ;   

65. Oil, natural  gases and coal are examples of 
a. Geothermal energy  b. Biofuels   c. Fossil Fuels 

d. Renewable Energy  e. Answer not known 
vz;nza;> ,aw;if thA> epyf;fhp Kjypad———— cjhuzkhFk; 
a. Gtp ntg;g rf;jp   b. caph; vhpnghUs;  c. gbk vhpnghUs; 
d. GJg;gpffty;y rf;jpe  e. tpil nkhpatpy;iy  
 

66. Rajiv Gandhi National Institute of youth development is situated at 
a. New Delhi   b. Tamil Nadu  c. Kerala 
d. Madhya Pradesh  c. Answer not known 
uh[pt; fhe;jp Njrpa ,isQh; Nk;ghl;L epWtdk; mike;Js;s ,lk; 
a. GJ nly;yp  b. jkpo;ehL   c. Nfush 
d. kj;jpa gpuNjrk;   e. tpil njhpatpy;iy 
 

67. The First India to win the United Nation’s is Asia Environmental Enforcement 
Award  
a. Sasmita Lenka  b. Sudha Murthy  c. Brinda Karat 
d. Uma Bharathi  e. Answer not known 
I.eh. rigapd; Mrpah Rw;Wr;#oy; ghJfhg;G tpUJ ngw;w Kjy; ,e;jpah; 
a. r~;kpj;jh Nye;fh  b. rjhKh;j;jp   c. gphpe;jh fhul; 
d. ckh ghujp  e. tpil njhpatpy;iy 
 

68. In Redefining Federalism for development plans, Niti Aayog pursues partnership 
with states through 
a. Competitive and Co-operative Federalism  b. Quasi-Federalism 
c. Unitary and Quasi federalism    d. Co-operative federalism 
e. Answer not known 
tsh;r;rp jpl;lgq;fSf;fhf $l;lhl;rpapid kWtiuaiw nra;tjpy; 
khepyq;fSf;filNa epjp MNahf; Nkw;nfhs;Sk; topKiwahdJ 
a. Nghl;b kw;Wk; $l;LwT $l;lhl;rp Kiw   b. $l;LwT $l;lhl;rp Kiw 
c. xw;iw kw;Wk; Fiw $l;lhl;rp Kiw   d. xj;J-Njh;T $l;lhl;rp Kiw 
e. tpil njhpatpy;iy 
 

69. Altaf Fathima’s Second Novel Dastak Nao Do (1964) (The one who did not ask) was 
translated in which language and which year? 
a. English,1994  b. Malayalam, 1994  c. Hindi, 1994 
d. Urdu,1994   d. Answer not known 



 

13 | P a g e  
 

my;jhg; ghj;jpkhtpd; ,uz;lhtJ Gjpdk; ‘j];jf; et Njh’ (1964) (The  one who did 
not ask) ve;j nkhopapy; ve;j tUlk; nkhop ngah;f;fg;gLs;sJ. 
a. Mq;fpyk;> 1994   b. kiyahsk;> 1994  c. `pe;jp> 1994 
d. cUJ> 1994   e. tpil njhpatpy;iy 
 

70. UNCSCO announced———— number of world best heritage monuments   in India in 
2020 
a. 38  b. 33  c. 30  d. 35  e. Answer not known 
2020y; And];Nfh mikg;ghy; cyf ghuk;ghpa rpd;dq;fs; vd;W  mwptpf;fg;gl;l 
vj;jid ,lq;fs; ,epjahtpy; cs;sd?  
a. 38  b. 33  c. 30  d. 35  e. tpil njhpatpy;iy 
 

71. In 2019, 50th Dadasaheb Phalke award given to 
a. Actor Rajinikanth    b. Actor Amitabh Bachchan 
c. Actor Amirkhan    d. Actor Abisheck Bachchan 
e. Answer not known 
2019Mk; Mz;L 50tJ jhrhfpg;ghy;Nf tpUJ toq;fp nfsutpf;fg;gl;lth; 
a. ebfh; u[pdpfhe;j;    b. ebfh; mkpjhg;ggr;rd; 
c. ebfh;mkPh;fhd;    d. ebfh; mpgpN~f; gr;rd; 
e. tpil njhpatpy;iy 
 

72. The song ‘Vande Mataram’ was composed in Sanskrit by 
a. Rabindranath Tagore   b. Sarojini Naidy 
c. Bakimchandra Chatterji   d. Pandit Ravi Shankar 
e. Answer not known 
 “te;Nj khjuk;” vd;w ghliy rk];fpUjj;jpy; ,aw;wpath; 
a. ugpe;jpehj; jh$h;    b. rNuh[pdp ehAL  
c. gfpk;re;jpu rl;lh;[p   d. gz;bl; utp rq;fh; 
e. tpil njhpatpy;iy 
 

73. According to 1961 census, the total number of languages spoken in India. 
a.167  b. 177  c. 187  d. 197  e. Answer not known 
1961 kf;fs; njhif fzf;nfLg;gpd;gb> ,e;jpahtpy; Ngrg;gLk; nkhj;j nkhopfs; 
vj;jid? 
a.167  b. 177  c. 187  d. 197  e. tpil njhpatpy;iy 
 

74. IN which year, quick mail service was introduced in India? 
a. 1975  b. 1977   c. 1971 
d. 1976  e. Answer not known 
,e;jpahtpy; ve;j Mz;L tpiyT mQ;ry; Nrit mwpKg;gLj;jg;gl;lJ? 
a. 1975  b. 1977   c. 1971 
d. 1976  e. tpil njhpatpy;iy 
 

75. Assertion (A):      Black soil getting their parent materials from the weathered rocks. 
Reason (R)     :      The Black soils have a high water retaining capacity. 
a. (A) and (R) are correct and (R) is true explanation of (A) 
b. Both (A) and (R) are correct but (R) does not explain (A) 
c. Only (A) is correct, (R) is false 
d. Only (A) is false but (R) is true 
e. Answer not known 
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$w;W (A) :   fhpry; kz; mtw;wpd; Kyg;nghUl;fis thdpiyr; rpijTw;w 
ghiwfspypUe;J ngWfpwJ. 
$w;W (R) :       fhpry; kz;zpw;F mjpf ePiu jf;f itf;Fk; jpwd; cs;sJ. 
a. (A) kw;Wk; (R) rhpahdit kw;Wk; (R) vd;gJ (A) ,d; cz;ikahd tps;ffk; 
b. (A) kw;Wk; (R) ,uz;Lk; rhpahdit Mdhy; (R)> (A) is tpsf;ftpy;iy 
c. (A) kl;Lk; rhpahdJ (R) jtwhdJ 
d. (A) kl;LNk jtwhdJ Mdhy (R) rhpahdJ 
e. tpil njhpatpy;iy 
 

76. The Karmanasa river water disputers is between which states 
a. Punjab and Rajasthan   b. Andhra Pradesh and Karnataka 
c. Bihar and Uttarpradesh   d. Assam and Kanipur 
e. Answer not known 
fh;kehrh ejpePh; rh;r;ir ve;j khepyq;fSf;F ,ilapy; cs;sJ. 
a. gQ;rhg; kw;Wk; ,uh[];jhd;  b. Me;jpu gpuNjrk; kw;Wk; fh;ehlhf 
c. gPfhh; kw;Wk; cj;jpugpuNjrk;  d. m];]hk; kw;Wk; kzpgG+h; 
e. tpil njhpatpy;iy 
 

77. The State the experiences longest rainy season in India is  
a. Tamil Nadu  b. Kerala   c. Karnataka 
d. Gujarat   e. Answer not known 
,e;jpahtpy; ePz;l kiof;fhy gUtj;ij njhz;bUf;Fk; khepykhdJ 
a. jkpo;ehL   b. Nfusk;    c. fh;ehlfk;  
c. F[uhj;   e. tpil njhpatpy;iy 
 

78. During the period of Achuta Devaraya the Vijayanagar kingdom divides into 
a. 15 Rajyas   b. 16 Rajyas   c. 17 Rajyas 

d. 18 Rajyas   e. Answer not known 
mr;Rjehah; fhyj;jpy; tp[aefu NguuR vj;jid uh[;[paq;fshf gphpf;fg;gl;Ls;sJ. 
a. 15 uh[;[paq;fs;  b. 16 uh[;[paq;fs;   c. 17 uh[;[paq;fs; 
d. 18 uh[;[paq;fs;  e. tpil njhpatpy;iy 
 

79. The master gunner in army of Babur at the battle of Panipet 
a. Ustad Ali   b. Zafar Khan  c. Humayun 
d. Hindal   e. Answer not known 
ghdpgl; Nghhpy; ghghpd; ,uhZtj;jpy; ,Ue;j jiytpwe;j Jg;ghf;fp tPuh; 
a. c];jhj; myp  b. [h/gh;fhd;  c. `{khA+d; 
d. `pz;lhy;   e. tpil njhpatpy;iy 
 

80. ‘Lal Qila’ was constructed of red sand stone by 
a. Jahangir   b. Shahjahan  c. Akbar 
d. Aurangazeb  e. Answer not known 
rpte;j kz; fw;fshy; fl;lg;gl;;l ‘yhy; fpyh’ vd;g;gLk; Nfhl;iliaf; fl;bath; 
a. [`hq;fPh;    b. ~h[`hd;  c. mf;gh; 
d. mTuq;frPg;   e. tpil njhpatpy;iy 
 

81. The All-India Muslim League was formed in 1906 at 
a. Aligarh   b. Dhaka   c. Lucknow 
e. Lahore  e. Answer not known 
mfpy ,e;jpa K];yPk; yPf; fl;rpahdJ 1906k; Mz;L ve;j ,lj;jpy; njhlq;fg;gl;lJ? 
a. mypfhh;  b. lhf;fh   c. yf;Ndh 
d. yh$h;  e. tpil njhpatpy;iy 
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82. The city Vijayanagaram was called as 
1. Bija Nagar 
2. Virupatchapuram 
3. Hosepattanam 
4. Vidyanagaram 
a. 1 only  b. 2  only   c. 2,3 only 
d. 1, 2, 3, 4  e. Answer not known 
tp[a efuk; ve;j ngahpy; miof;fg;gl;lJ 
1. gP[efh; 
2. tpUghl;~Guk; 
3. N`h];gl;lzk; 
4. tpj;ahefuk; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 2>3 kl;Lk;  
d. 1> 2> 3> 4  e. tpil njhpatpy;iy 
 

83. (A): Akbar became the forerunner of ‘Sardha Act’. 
(B): He imposed the minimum age bar as 18 years for boy and 14 years for girls in 
order to discourage the child marriage 
a. A is true but B is false   b. Both A and B true 

c. A is false and Bis true   c. Both A and B area false 
e. Answer not known 
(A): mf;gh; rhujh rl;lj;jpd; Kd;Ndhbahf jpfo;e;jhh; 
(B): ,th; Muzpf;F Fiwe;jJ 18 taJk; ngz;zpw;F 14 taJkhf jPhkhdpj;J 
Foe;ij jpUkzj;ij Fiwf;f eltbf;fif vLj;jhh; 
a. (A) rhp Mdhy; (B) jtW  b. (A) kw;Wk; (B) rhp 
c. (A) jtW kw;Wk; (B) rhp  d. (A) kw;Wk; (B) jtW 
e. tpil nkhpatpy;iy 
 

84. Who among the following was first ruler to propound the Divine Right Theory of 
Kingship? 
a. Alauddin Khilji  b. Balban   c. Iltumish 
d. Raziya   e. Answer not known 
fPo;tUgtw;Ws; murhpd; nja;tPf chpikf; Nfhl;fhl;il Kd;itj;j Kjy; murh; ahh;? 
a. myhTjPd; fpy;[p  b. ghy;gd;   c. ,y;l;Lkp~; 
d. ,u~pah   e. tpil njhpatpy;iy 
 

85. Which one of the following was not cultivated by the Harappan people? 
a. Barley   b. Wheat   c. Cotton 
d. Sugarcan   c. Answer not known 
`ug;gd; kf;fshy; gaphplg;glhj gaph; vJ? 
a. ghh;yp   b. NfhJik   c. gQ;R 
d. fUk;G   e. tpil njhpatpy;iy 
 

86. Oldest known system designed for the releases of Citizen’s Grievance 
a. Ombudsman system  b. Lokpal  c. Lokayukta 
d. None of the above  e. Answer not known 
kf;fspd; Fiw jPh;g;Gf;fhf cUthf;fg;gl;l goikahd Kiw 
a. Xk;gl;];kd; mikg;G  c. Nyhf;ghy;  c. Nyhf; MAf;jh 
d. Nkw;fz;l vitAk; ,y;iy e. tpil njhpatpy;iy 
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87. Which among the following articles of the Indian Constitution deal with the 
Supreme Court of India? 
a. Articles 36 to 51  b. Articles 79 to 123  c. Articles 124 to 147 
d. Articles 12 to 35  e. Answer not known 
fPo;fhzg;gLk; ,e;jpa murpayikg;G rl;lj;jpd tpjpfspy;> cr;rePjpkd;wj;ij 
Fwpg;git ahit? 
a. tpjp 36 Kjy; 51 tiu   b. tpjp 79 Kjy; 123 tiu  
c. tpjp 124 Kjy; 147 tiu  d. tpjp 12 Kjy; 35 tiu 
e. tpil njhpatpy;iy 
 

88. Preventive detention beyond three months requires authorization from 
a. Chief Justice of High Court  b. Attorney general of India 
c. Advocate General    d. Advisory Board 
e. Answer not known 
jLg;Gf;fhtyh; rl;lj;jpd;gb %d;W khj fhyj;jpw;F gpwF nray;gLj;j mDkjpg;gth; 
ahh;? 
a. cah;ePjpkd;w jiyik ePjpgjp  b. ,e;jpa jiyik tof;FiuQh; 
c. jiyik tof;fwpQh;   d. MNyhridf;FO 
e. tpil njhpatpy;iy 
 

89. Termination of a session of the House by the Speaker is  
a. Dissolution  b. Adjournment  c. Prorogation 

d. Summoning  e. Answer not known 
rghehafuhy; ghuhSkd;w mkh;tpid KbTf;F nfhz;L tUjy; MFk;. 
a. fiyg;G   b. xj;jpitg;G  c. KbTf;F nfhz;L tUjy; 
d. miog;G   e. tpil njhpatpy;iy 
 

90. Which of the following is not a formally prescribed device available to the members 
of parliament? 
a. Half an hour discussion   b. Zero-hour   
c. Short duration discussion  d. Question hour 
e. Answer not known 
fPo;fz;ltw;Ws; ghuhSkd;w cWg;gpdh;fSf;fhd Kiwikrhuh rhjd; (fUtp) vJ? 
a. miukzp Neu tpthjk;    b. G+[;[pa Neuk; 
c. FWfpa fhy tkpthjk;    d. Nfs;tp Neuk; 
e. tpil njhpatpy;iy 
 

91. Which of the following statement is false? 
a. Fundamental Duties are given in Part IV of the Constitution 
b. After the 42nd Constitutional amendment fundamental duties have been added to 
the Constitution of India 
c. In 2002, after the 82nd Constitution amendment act, another fundamental duty  
was added 
d. Public Representation Act was passed in 1951. 
fPo;fz;ltw;Ws; jtwhdJ vJ? 
a. mbg;gilf; flikfs; ,e;jpa murpayikg;gpd; ehd;fhk; ghfj;jpy; cs;sJ 
b. 42tJ rl;l jpUj;jj;jpd;gb mbg;gilf; flik ,e;jpa murpayikg;Gld;    
  ,izf;fg;gl;lJ 
c. 2002 Mk; Mz;L> 82tJ rl;l jpUj;jj;jpd; gb NkYk; xU  mbg;gilf; flik  
  Nrh;f;fg;gl;Ls;sJ 
d. nghJ gpujpepjpj;Jtr; rl;lk; 1951y; mky;gLj;jg;gl;lJ 
e. tpil njhpatpy;iy 
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92. The correct statement about Fundamental Rights are  
(i)  They are enforceable in Court of law 
(ii) These rights are absolute 
(iii) The can be suspended during National Emergency except rights guaranteed by 
Articles 20 and 21 
(iv) They are available only to Indian Citizens 
a. 1, 2 and 3   b. 1 and 3   c. 1 only 
d. 1, 3 and 4   e. Answer not known 
Mbg;gil chpikfs; gw;wpa rhpahd $w;W 
(i) ePjpkd;wk; %ykhf eilKiwg;gLj;jf; $baJ 
(ii) ,e;j chpikfs; KOikahdJ 
(iii) Njrpa mstpyhd mtru epiyapd; NghJ tpjp 20 kw;Wk; 21d; fPo; cs;sitj; j 
   Jtpu kw;w midj;Jk; jw;fhypkhf epWj;jp itf;fg;glyhk;  
(iv) ,it ,e;jpa Fbkf;fSf;F kl;Lk; fpilf;fg; ngwf; $bahjhFk; 
a. 1> 2 kw;Wk; 3  b. 1 kw;Wk; 3   c. 1 kl;Lk; 
d. 1> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
   

93. Which article is related with ‘Abolition of Untouchability’? 
a. Article 20   b. Article 19   c. Article 18 
d. Article 17   e. Answer not known 
jPz;lhik xopg;G gw;wp $Wk;murpayikg;G tpjp vJ? 
a. tpjp 20   b. tpjp 19   c. tpjp 18 
d. tpjp 17   e. tpil njhpatpy;iy 
 

94. What are the Non-Monetary functions of  the RBI? 
A. Control of Bank Credit   
B. Control of foreign exchange operation 
C. Licensing of Banks   
D. Deposit insurance scheme 
E. Answer not known  
a. (A) and (B)   b. (B) and (C)   c. (C) and (D) 
e. (A) and (D)  e. Answer not known 
 ,e;jpa hprh;t; tq;fpapd; gzk; rhuhj gzpfs; ahit? 
A. tq;fpfspd; flid fl;Lg;gLj;Jjy; 
B. me;epa nryhtzp khw;wj;ij fl;Lg;gLj;Jjy; 
C. tzpf tq;fpfSf;F chpkk; mspj;jy; 
D. itg;G fhg;gPl;L jpl;lk;  
a. (a) kw;Wk; (b)  b. (b) kw;Wk; (c)  c. (c) kw;Wk; (d) 
d. (a) kw;Wk;  (d)   e. tpil njhpatpy;iy 
 

95. The Multidimensional Poverty Index developed by 
a. Oxford Human Development Initiative 
b. UNO Human Development Initiative 
c. UNDP 
d. Morris D Morris 
e. Answer not known 
gy ghpkhz tWikf; FwpaPl;il cUthf;fpaJ 
a. Oxford kdpj Nkk;ghl;L Kaw;rp (HDI) 
b. UNO kdpj Nkk;ghl;L Kaw;rp (HDI) 
c. UNDP 
d. Morris D Morris 
e. tpil njhpatpy;iy  
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96. Who started the Zamindari system? 

a. John Shore   b. Lord Cornwallis   c. Lord Minto 
d. William Bentick  e. Answer not known 
[kPd;jhhp Kiwia njhlq;fpath; ahh;? 
a. [hd; N~hh;  b. fhHthyp]; gpuG   c. kpd;Nlh gpuG 
d. tpy;ypak; ngd;bf; e. tpil njhpatpy;iy 
 

97. Vivad Se Vishwas scheme is related to 
a. Direct tax   b. Indirect tax  c. Both 
d. Neither direct tax not indirect tax   d. Answer not known 
tpthl; Nr tp];th]; jpl;lk; vjDld; njhlh;GilaJ? 
a. Neub thp   b. kiwKf thp  c. ,uz;Lk; (A) kw;Wk; (B) 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

98. The reserve Bank of India was Nationalised on 
a. January 1, 1949   b. January 1,1950  c. April 1, 1949 
d. April 1, 1950   e. Answer not known 
,e;jpa hprh;t; tq;fp muRilikahf;fg;gl;l ehs; 
a. [dthp 1> 1949   b. [dthp 1> 1950  c. Vg;uy; 1> 1949 
e. Vg;uy; 1> 1950   e. tpil njhpatpy;iy 
 

99. Select the following statement is/are correct about NITI Aayog. 
I. The aim of NITI Aayog is to achieve sustainable development goals and to enhance 
Cooperative federalism in the country. 
II. The Prime Minister of India is the ex-officio chairperson of the NITI Aayog. 
III. There are 8 full time members is the NITI Aayog 
a. II and III only  b. II only  b. I only 
d. I and II only  e. Answer not known 
NITI MNahf; gw;wpa gpd;tUk; mwpf;fiffspy; rhpahdijj; Njh;e;njhL: 
I. NITI MNahf;fpd; Nehf;fk; epiyahd tsh;r;rp ,yf;Ffis miltJ kw;Wk;   
   ehl;lby; $l;LwT $l;lhl;rpia Nkk;gLj;JtJ.  
II. ,e;jpa gpujkh; NITI MNahf;fpd; mjpfhu G+h;t jiytuhf cs;shH. 
III. NITI MNahf;fpy; 8 KONeu cWg;gpdh;fs; cs;sdH 
a.  II kw;Wk; III kl;Lk;  b. II kl;Lk;   c. I kl;Lk; 
d. I kw;Wk; II kl;Lk;  e. tpil njhpatpy;iy 
 

100. The Growth target of the 12th Five-year plan of India is/as 
a. 7.8%  b. 7%   c. 8% 

d. 8.5%  e. Answer not known 
12 tJ Ie;jhz;L jpl;lj;jpd; tsh;r;rp ,yf;F ———— ,Uf;fpwJ. 
a. 7.8%  b. 7%   c. 8% 

d. 8.5%  e. tpil njhpatpy;iy 


